The ‘Grey Revolution’ corresponds to:/' 3]

/Moke/ gt

(C) Coal/ 3B

Which city out of the following hosted ‘First Finance Ministers and

part of India’s G-20 presidency recently:/ g ot fe@ gd3 & 20-G Hﬂ’mﬂ e fan "
o w3 Aot aregeat SRS S go A RS RS AT

D) Cement/ __
= Central Bank Governors Meeting as

ufast &3

| (A)/Ahmedabad/wrﬁm?a"?

(8] New Delhi/a=t & /

@6 Bangaluru/ EIETESQ’ (D) Amritsar l"’lﬁ'ﬁﬂa
3. | 500 new ‘Waste to Wealth’ plants to be established under which scheme? /feTF el Wl 500 e
RAC T 2BH UBT AU 13 ArEa
(N(alpataru/ SBY3d (B) Sankalp [AESY ( I )
//La/éobardhan scheme/ S9ITUS A (D) Swach Bharat Abhimﬂégm

—A€cording to India’s Economic survey 2022-2023, country is to witness a GDP growth rate of
for the Financial year 2023-20247/ 393 & wigfga AISHE 2023-2022 T WEHS f&3 A5 2024-2023

e A Agnft feaAeg ... A< gI9n?

(A) 6.0%-6.8%

M) 6.6%-10%

(C) 6.8%-7%

(D) 6.9%-9%

Who among the following was the Chief Guest for 74" Republic Day celebrations of India?/ 393 ©
742 =339 foer AT B8 3 Y HigHs AP

(A) Abdel-Fattah EI-SisiMERS-Z3™T WS-
HiFt

(B) Sheikh Mohammed Bin Rashid/R HaHe fa& Ifiae

(C) Gamel Abdel Nasser/ FHIS WeETS
&g

(D) Mohamed Naguib/ HIHT &+

g St J?

What is the literal meaning of the term ‘Quo-Warranto'?/' fd@-2d&" (Warranto-Quo) HEIE & Hsfeq

(A) To restrict/ YSEfas 36 SEI

MTO whom it may concern/ fAA S &8
fog Adfuz IR

(A) Article-23/ Trar-25
(C) Article-60 /O7g™-60

(B) By what authority (or) warrant/ fI warge (A7)
TIC g
(D) We command/ Wit wrag fidR gr

The term ‘cabinet’ is mentioned in which of the following articles of the Indian Constitution?/ S/I3T

Hferrs S o arar feg Haat Has (cabinet) FEE & fiyag 3y

(B) Article-351 /orgr.351
(D) Article-35/ grgr .35,

c-1of1l
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he age of retirement 0

following constitutional amend

i Fafeg 60 T d 6l
(A) 15" amendment/ 15% R0
(c) a2™ amendment/42“‘fﬁﬂ

9. |dentify the |eader whose supp
the Indian National Congré

ifamor o H1?

TTiigh Court Judges in India was increased from 60 to 62 years by which of the)
ments?/ 393 e gt 39z @ Hq & ATyad ©f WS § faw

(B) 12" amendment/12¥ R

| (DT74" amendment/74% AT

ort was sought by Ali brothers for the launch of Khilafat movement by

<57/ BB SHEB FIGH g fHeTes Wess B 96 B WEl IR

(A) A C Majumdar/ € H HgHE'd

(C) C Vijaya Raghavachariyar/ H feqd

guergTiand

(B) Mahatma Gandhi/ Ha"3H" Irdt

(D) Pandit Motilal Nehru/ Hif33 #31 &8 afog

10. | Who founded the full text of K

autilya’s Arthshastra on a palm leaf in the Grantha script?/ afesy ®

(A) Bhattasvamin/ FoASTHE &

m—waﬁyawﬁaﬁﬁﬁeﬁaéﬁwg@mwﬁsé@?m
3

(B) D. B. Spooner/ 3. &t AUsay S

(C) Dr. R. Shamashastry/ 37. Wd. HHAASS &

(D) Dr. J. P. Joshi/ 3. AL, AFT &

!

Who coined the term Pakistan for the first time?/ UfaA3s e o 99& A8 3 ufgst fars i3k

(A) Abdul Gaffar Khan/ WEES Jig9 UG )

(B) Maulana Hasrat Mohani/ NES IA

\ (C) Rahmat Ali/ SfaH3 wiEt i

(D) Mohammad Iqbal/ HeiH+e fesard § /

12.

Who gave the title of ‘Sher Khan'’ to Sher Shah Suri?/ Rd A Bt & AI s T fu3" fans &3 7

Jﬁ(ﬁalal khan/ 88 H'&

(B) Kamra/ ™HJ"

(C) Shaibani Khan/ RE& ¥

(D) Muhammad Nuhani/ HIHE GIa!

13.

!

Which of the following Sikh Guru instructed his beloved followers to contribute one-tenth of their
money and time for the service in the name of almighty?/ a3z fiy dd Tfoas & wWys h@WEW'g

Wéw’?wﬁ?m%@m&ré&&?ﬁﬂfﬁ?

\qkﬁiuru Nanak Dev/ 9d &'& €< 7t

(B) Guru Arjan Dev/ i@mé—q’ﬁr

L

(C) Guru Amar Das/ g WHIE'H it (D) Guru Ram Das/ Jg IHEH I
14. | Who is the author of a book named “Dabistan-e-Majahib”, which describes the organization of Sikﬂ

community?/ﬁHm{éﬁWEWWEﬂfm ‘CEASS-E-HAlT | JEd

(A) 0.P. Ralhan/ € 1}t Imgs (8) surinder Kohli/ Hidged AT \ \ / ]
15. (;Lrt::jjnRZa?.i/ww (D) William Irvine/ e feafes

; niit Singh was crowned o which date at Lahore fort?/ TIT @ 58 feg HIgH ez

T & 3t = iy

(A) April 11, 1801/ 1 15 1507 &, (8) April 12, 1801/12%% 1801 &L,
16, (v?hifli:'m” 1375 1801 & (D) April 14,1801/ 14" 801 E1

g the following was the founger of Faizalpuria Misl?/ Bawydhr A T HEl I A
(A) Nawab Kapur Singh/ O YT fify = (B) Sardar Chhajja Singh/ FIE'd &
(C) Sardar Gurdia| Singh/ nger-:a“ A o ) Baba Binod Singh/ ey fase Y
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(A) 2003

| (A) Nathpa Jhakri Dam/ TERTEIH 31 [ (g) pong Dam
| (c) Shahpur Kandi Dam/ H'agaaéra"h (D) Dul Hastl pam/ T8
'__”_-__— . . .

18. | Which of the following wildlife sanctuary is |ocated in close
fagar HerE! HIZ WHE'S (wildlife sanctuary) Wﬁrﬁaé?ﬁmm
| (A) Bir Moti Bagh/ =Z Rt T (@) il
| (c) Bir Gurdialpura/ ST ISy (D) Bir aishwan/ ShF WHIS

19. | In which year Sahibzada Ajit Singh Nagar was made as 18" District of Punjab?/ Afgearer WA iy

&IId § oA A Urre €118 ¥ fagyr szl famr

ng@?ﬁw%wwm

7. | Whichofthefolowing damis constructe ove gegs rivert/ T = = 2 T ——————
[ —

proximity of Anandpur Sahib 2/ I feu fed

~Bacholi/ ST HO8

A
#6)2004

C) 2005 6
( dgmoo

20. | Which of the following museum is located at city of Ludhiana ?/ 3% &8 e fagz wiares wa gimireT

i

c-30f1l

24. | Which among the following means to “understand fully”?

LK) comprehend (B) apprehen K )

(C) study (D) read w
25. | Too many cooks spoil
(A) the wine  (B) the foog —~
N (DUthe tg
(C) the broth | [DAhe taste
i The adverb for braveis
(B) braye
([ Wibravely v
(C) bravo
\

Afgg feo AfEz
(A) Shaheed-E-Azam Sardar Bhagat Singh Wa sikh Museum/ deat fid wirfesg w3
Museum/ HIIE-B-waH ASSS 5913 fify )
e yg
((ﬂ‘-) International Dolls Museum/ (D) Maharaja Ranjit Singh War Museum/ HIT Jerl3
niZTTHESS IBH HEHMM ity g HE R
21. | Note: Give the right option for each of the following qu;stions.
| amppt older than you, -
n(ANaren’t I - (B) amn’t ( \ )
(C) weren’t I %m | \/
22. \WEat is the correct meaning of “continual”? -
<4X) going on without stopping (B) occurring rep{aatidly }3" the time
(C) always _AD) never endingU
23. | __ playinghockey, he also plays football. P /\»\
(A) Beside _48) Besides
(C) Though (D) Although ~ \_ 7”7
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s €, ut”?
What is the meaning of “make 0

(A) read

(A)is

Which among the following is a syno

_

(C) understand \M
The beauty of thousands of minarets M

H
oee——

s
/JM

CleVer

(A) crafty
(C) unclear (D) transparent
30. ch among the following is an antonym of “despair™
Z‘A) misery (B) shame
(C) anger (D) hope
31 | 53 93 o faAH adt 9
(A) T2 AH B <
(C)nfst 83U :9;;2 L
7 (e & Bl e o = Y,
TNCLIGE — N\
I ICEES :g))wﬁ f\\/\
r” \\ ‘*‘c'z%wg ......... U B 1ud FEs 59 |
(A =R oo
NTaks DE e
F 34, }M@éﬁqmmww%?\ (D}t ag \_'_/
(A)Hw & d
[ /(0%%13 3 (B) 33
35 |‘BUT T RS T Hug I (D)uT €
(A) EES e AISaT ' £ —~
() Fisw 3t o o By e uis 57 F)
36. | ‘SHAl @ NeT m?‘w?—r@av (D) 3rg difde fAw +
L AT e RS
| |omeee g BEuT T A3 3 | \
37, |afed S Saqr (D)Haaﬂir%m%ﬁ ]
I L\l
| (O 8Tk (8) W=
[ e e O
(\W >\
|39, | uﬁ):ag U (B) ge /
e e S e gy
i (C = ) = ? P
40. m '; B[ ) -
W Dkl po
(€)% ]
\W‘ 0§72 1
[ {O)F3net
k_’. L
(D
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v

z _9,8 1

(A) &S (B) T
— — ___|o)
— | (A e WBTE
— ()35 (D)8
| ‘HeEL T fdaT 59 AEfuS 3 .
———/WW (B)wﬁﬁi )
— | (C) YT IH (D) Enimg
— 5. | ‘W oMl &7 U3 ¥8d 37 o 97
[ (B) yo=a/,
— | ()BT (D)H ;
25 | Jfonr B HBE
'—__—(A)EVU‘?’T%V (B) W3t T
— | (s T Dyt I
27, | udt & T AET J: ;
(A) 7BT 3% NI D GERa)
uprq-;;gs "(D) 3" feT faRt o7 <t &t
48 | ‘93 U9 HizAT : N\
(A) urFt 3 EFy | )
(CYFaar 9 (D) BT
49. | ‘yfome gar3’IET ot =4t O
(A) e =ar UB) T3 &
(C) AT = (D) Uit aEr
50, | a=t x| I
(A) FET ydt (B) &A™ T Jat \
(C) 3% o (DY8® w3 whmist X7

51. | Which of th tement is true for the following reaction: (‘)L // Wad
Mn02+4Hg:2:1CI2+2H20+CI2 ‘\]01/ \fq k\ (9“7/)@&'\
F5t Ry 5 g o T S A A

MnO2 + LHCIMnCI2 + 2H20 + CI2 5

(A) MnO 2 is reduced while HCl is oxidized./ (B) MnO 2 is oxidized while HCl is reduced./ MnO 2 ?5'
MnQ 2 werfemr wier J 7 fI HCl
Q “ WEIHE S e 3 AT Hel werfimp mrer 3
WIHIZE ger JI
[
(C) Both MnO 2 and HCl got oxidized./ MnO 2 anot an oxidation-reduction reaction./ 1&g
| "3 Hel = wrariizda I A I5 W‘W@wqﬂﬁwmﬁél
52. | The change in the colour of Copper sulfate solution when an Iron na|| is di

pped lnto it is an example of/

3
jwm reaction/ Witae yFifafanr | (B) ispla‘C@!ment reaction/ feFEIs H%f‘a*w

(C) Double displacement reaction/ @It

| o et

c-50f11
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53.

ixture of/ ﬂagr S _
Aqua regia, is a freshly prepared ™ fom & 33 f3wrg firmgs der e

. C. B o
(A) Conc. hydrochloric acid and CC:n“ (B) Conc. sulfuric acid and conc. nitric acid in the ratio of

sulfuric acid in the ratio of 3:1./ aﬂ?g—;:; 31/ RUEEEE ASiegfaa Witz w3 3.1 @ waus R
a@glagfaaﬁﬁgﬁwéh@ﬂ aﬂ?éa?i'@ﬁl’a?ﬂﬁqgl
Heges nefegfaa S|

(C) Conc. nitric acid and conc. hydrochloric 'Conc. hydrochloric acid and conc. nitric acid in the
~cid in the ratio of 3:1/ dFcded BEIGT [ ratio of 3:1./ diedez arafe nifig w3 3:1 € wau3

Wi W 3:1 @ wgu'3 g dAedes <o dredes oagafya W |
TSI WifiE |

54. | Butanol is a four carbon compound with the functional group/ HT'88 IIHHS AYd % 9'd 986
gz 3 i
(A) Aldehyde/ WBHTEF (B#ohol/ WBITH \\ ’)
(C) Carboxylic acid/ STISARITGS WHF (D) Ester/ wWHST ~
55. Scupn s formed by the reaction of/ fam & Y3 gorgr wely g=er 9
//?A) Detergent with sodium and magnesium (B) Soap with sodium and magnesium salts/ RS
salts/ RSMH W3 NESHMYH FBe f3egne w2 R S 8T ASs

|

(C) Soap with calcium and magnesium salts/ (D) Detergent with calcium and magnesium salts/

—

Transpiration through stomatal pores in plants help in /ARNTE HA™H ©rgr TMags &8 dfowr §
fan /ﬁa'a Hee fHeet 7

4 Absorption and upward movement of water in the (B) reprodugtfonA Yoo
xylem/ FfeBH &g urst & M w3 Gig T ISt |

(C) Absorption and upward movement of food in (D) Transfer\qf',péllens / UIaT € 3IgesT
phloem/ SBH &8 37 & AHTEl w3 Qug <5 I3t

57.

The breakdown of pyruvate to give carbon dioxide, water and energy takes place in/ 955

FEIREE, UEt w3 89 2 wd yriige € derr far R Tuger I\

(A) Cytoplasm/ AMESUSTHH [ (B) Chloroplast aﬁéumfc S
. (8) Chloroplast/ ( >
{Citochondria/ HEIRI I (D) Nucleus/ fsQasmm .

58.

Pituitary gland is responsible for the secretion of/ ﬁ-rf%@'i’é'f Jj&it @ fradas 38 fileg 3

(A) Testosterone/ SHEAAIS Growth Hormopﬁ%ﬁm TINS

59.

(C) Insulin/ E5RBS (D) Estrogen/ W,l ]
Which of the following is not a part of the female reproductive system in human beings?/ I ffimyt B

ﬁgf‘aﬂ?wﬁawm,mﬂgﬁwﬁ;}?

C
l— ( s deferens/ Hy-Tgg (D) Fallopian tulfe/ fEQS‘ B

A) O WIan %
( ) varV/ A (B) Uterus/age-rgs}\

N

C-60f11
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v

)|
' c v L
—— — /
4 In a concave mirror, if the object is placeq between centre of Curvature Cand Principal focus F, then the

image will be formed/ S We3s iy frg 2 5g@0d C W3 A F < fegarg dfemr
e 3, 3 39 H8ar I T E -

| (A) At C, is of same size, real and inverted./ o WEnlarged, real and inverted./ C 3 US,
3, B wra'g T, R w3 5er

— | (C) At infinity, Enlarged, real and inverted./

. i1 the mirror, Enlarged, virtual and erect./ Hiit
wEZF 3, < I, WS I Q) |

2fifg, T3, SIS W3 HT"|

61. | The potential d'ffe'\%‘;e between t_he terminals of an electric heater is 60 V when it draws a current of 4
A from the source. What current will the heater graw if the potential difference is increased to 120 V?/

ﬁa@ga@amgmféﬁﬁa@hﬁasova"?éﬂéﬁaﬂésiuAera@ﬁaf% \'@
ﬁaaﬁ?érnisaisizovjawwwéym s e fdar? Loz o
Bxe XN I

<
— [weA fon (1) WSt %
___———(C)IOA D)12A ~__/ VY

62. | The phenomenon of electromagnetic induction is/ i3 ardfed Ezams & 939" I
(A) the process of charging a body./ AGIg & | (B) the process of generating magnetic field due to a
I9r g6 T yfafanr| current passing through a coil./ € e *d Bwe

TH gde 95 goal 933 Uer ada6 T Yfafanr|
%roducing induced current in a coil due to | (D) the process of rotating a coil of an electric motor./
4

#elative motion between a magnet g fEdafca Hea & g avrfes § Unwge &
and the coil./ T8 g W3 awes fegdg . -
Hﬂmm\émﬁawmﬁam ‘
gde Uer a3aT|

63. | AMendelian experiment consisted of breeding tall pea plants bearing violet flowers with short pea
plants bearing white flowers. The progeny all bore violet flowers, but almost half of them were short.

This suggests that the genetic make-up of the tall parent can be depicted as/fE A3BMies yuar g 5
35 TR 22 1eg @ e @ 55 e 85 T8 B Wed @ dfentt T yras IHs e 31 Arfans
S & St I Hes, ug G5 2 a9 Wl 22 Fa| o peger 3 fx 49 092 & Adfea gu-
R & & Tarrenr 7 IS S
\VJ\EQ e (B) TTww
— | TTWW /—l
() Ttww (D) Tt
—— f/ Her AEs wiar furefos fan e gfenr ger 3
64. | The female reproductive part Pistil is made up © ™ W% < =
Cm——— stamen/TTB’é’Hv‘—/T (B) Ovary, Anther and Stamen/ W3aH, WaI W3 ASHS
| s w3 Advis :
(C) Ovary, Style and Stigma/ WZ3H, FEES (D) Anther, Stamen and stigma/ Weg, FMG W3
™3 Afeamr
e les is aN example of/ WIIH & feGat R
* | The growth of pollen tubes towards the ovuleé Hlg ot/ i ge =

s geragz 37 ‘ I
I Ch"-‘mOtropism/ Eﬂﬂgﬁ-&m ‘ /

(A) Geotropism/ e fimH
D) Hyd ;
m} ismy SESfum ( rotropism/ T8I SN
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[ 66

B
(B) A concaye lens of focal length 50 cm./ 50 Aehitea
B & ¥ wess &h

(A) A convex lens of foc

hites s dad o B §38 OF

}% convex lens of focal Iength5cm'/ 5 (D) A concave lens of focal length 5 cm./ 5 ASHieT
e Sus dad < i §38 8 BT & 5 wegs 20| ,}p

67.

An element reacts with oxygen to give a compgung with a high melting point. This comp n\g T
soluble in water. The element is likely to be/ ﬁaa_“'@gm“f&iwméwgr@ L

WHWWWEHE’ETI feg HHSE Ut e & wesils 3 33 fog 3= @ Heres 3

Pay€alcium/ SSHMH {B) Carbon/ TIR

(C) Silicon/ fAEI"S Iron/i&?ﬁ(, )

68.

A t s
Plaster of Paris, a substance used by doctors for supporting erred bones is Chemically/3acdr eN'd"
St ISt & AT S Bl IIf3nT AT T UT9Y ygTHeg , Ifefea gu feg 9

R

(A)MgSO4.%H20 (B)Cac03.%H2d | )

(C)CaS04.%H20 (D¥CaS04.%H20

69.

Most of the sources of energy we use represent stored solar energy. Which of the

following is not ultimately derived from the Sun’s energy?/ A3 eWaT <93 He @8 §IF" © fwrersg
FI3 AT 1S B §I & TIRER Ta| ot 83 Y o i 9 v & G J ol fer
famor 37 -

geothermal energy/ g-8IHS QET-F (B) wind energy/ I<" §aH"

r——-—_—

(C) nuclear energy/ UIH'E GI7 (D) bio-mass/ SEE-HH

70.

The reaction between a carboxylic acid and an alcohol to form a sweet smelling substance is called as/

i ity melg =8 uergn § To8t o8 graSarfBa WHE W3 WEATs © fegarg Y § faar
e

\%erification reaction/ SlESadms ysifepr | (B) Esterification reaction/ WHeSfeams PElCUY

(C) Epoxidation reaction/ WUSTHIZHE ySifger | (D) Elimination reaction/ fSHEAS Ytafanr

71.

The values of k for which the quadratic equation 2x> — kx +k =0 has equal roots are/ k © & frg
SE 939 AHIETE 2x2 —kx +k = 0 ggrEd 4B I6

(A) 0 only s only_
8 only

72.

D)0, 8
If a number x is selected at random from the ﬁufmbers -3,-2,-1,0,1,2,3, then what is the probability

of finding x?/ RS B 55T x § Hspwrt _3 —2,~1,0,1,2,3 R BSTFT I 58 ghowr wer 3,
F x 2 88 wE & o s 3 C

I5 A—B’z)s’f

(€) % AV —m

N

o
\}\“p;}\ LT s G A ,\C®O. J :)(/\)\{)j\/‘

Fa WY o N W' ]
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e

AN

\‘\\

a v e N : : s | & e
(2,(’ A‘ID /\ ‘0 gv\ \L/H/ _ —
— opanFheisfanstie lastitermatan P e i,emeqt,velynlﬁsummﬁﬁd\aﬂstﬁfmmi!ﬁbthdﬁf e
| number of terms will be/ fost A.P. T uﬁm’r w3 m@@i%’ @33145%@ 3@@%"'@ D
e i S éﬁ?oqwm% ot 'r) IH OTdS\m QEX‘?RQXI .'D l
‘ T - NIV
——— 7(A‘) 5 _“ Ln » Ay /“_J\. L F\
M? | U WT = ] C ’\/\ Qn \ ﬂ _
y - o '~-.\(.F Uir i M e;fd?afﬂ’l <8
1-74‘ Brﬂﬁ'\humb@fﬁ W”mw é T T 0\’ g2 \j“,q\lrl 2 br mno ?P ol Mel j (a A
yﬁumiﬁohamhﬁber/sﬁa@ﬁ%mo T8y Frucurmedeifal f;‘;ﬁb ﬁam{fea%ﬂ‘ 7
(\ !||r|')L‘ ‘ﬁ‘lﬁ‘a.a. 7 ] ," 7—_ ) rTWr;( 8UI\()T)[’n
a T fJ Puf _ ik o i ‘ol.x«, =X
;B;_ ég?_ﬁﬂog?lrnfnmbfq TEFL Hene owil 1o (o - [?r) ﬂ-?uner_)orjoe'srun 2i )l';@r:gnl'a;@'{usﬁﬂf Sno Iln h‘g
75- If the system of equations 2x + 3y = 7 and 2ax + ('a bgy- 28 has;nglnltely,mﬁny squtmIn then/
S E
?-‘raamﬂaawél{s'?ﬁu+3y_7and +(a+£ ”ZB% %-%E_IB'H'%UEILQEE'
P)a=2b B2 B I R T T (h%f‘r )b=2a )\‘QL\L > 1R Y ,,./'
(Q’F”Zb 05 56 T2 @y th‘%:m 3 Srresr | (D) 2a+b =0 - 26eY 3BHR qldrfrlln jrign\ﬁ{\l
76. {How maqvgwo ﬂl&tﬂ@ gpqqremamqerlwhg nit I|'J::“ ivided by ”,\/ TS SO B W«E@" Ji
& svnfl 331. Y 0b§ W)H’ & 52 .I§FL$.§TW; | .QE' \d* 2151 J,;q,%gu e 9 -_)g(}.l'/\&\( (}’4
55 4 16, 0. ﬁ-b-—»r{q ISHE ?‘?"f \sriog o) (8) 12 £ Gt Gopr oo i che T |
(€)18 - f—-_ A anciy < ,v;_'. P Py -('D) 24 & e !
77. | Given that the volimes of two spheres are _m tﬁe ratio 64:27. Then ratio of their surface areas will be in
Sy tﬂéﬁio/%’fé%ﬂﬁmﬁéﬁféﬁf%‘dﬁiﬂm 64:27 é%f?str‘é‘féa ¥ ﬁ%@ﬁ#“%"ﬁ?aﬂs’arer
iaviz g ol sl .b-; DOSINCQ M2ViEy WiGH 55 3¢ SEVEYION 5 1s taoeiedn |
2 @F [tsk% ‘%Wﬁ-&:" ‘“?’ 51 BB Vs NG =i Sl =il u}‘knr-‘ ag cm{- 5 g ‘
L 1 S R e TE»?‘TT“}:%)A"?’ - Q( 4&\ |
(C)9:16 | (D) 16:9 it |
78.. +flf arithmeticmean of the.fallowing data is 12, then value of p is/ AFT I57 3 T S iaaies 1T
1239, ?p,erwz} ; B s R |

- F_:,;.?:}i'-’-““ S 'a ’T
\/“fm) 12 HsHG \zudino v ‘("(-'B) 10 RY(2E
L -ul:(@:l‘@:ze*. shotihe %deéij?e ot o - (L -] (D)6 4 w4 v o a0inst avs (C) has {I+4) H X \

79. | From a point on the ground,:Rayijobserves.that thezngle QFqlevat;o;wf-a\rraeWﬁlaﬂﬁ flyjng aﬁvav fro
him at a-constant height of 3000 m is 60°. ﬁfter 30 seconds, he observes thatthe angle qfegevatlon has ——

changed to 30°. At what speed is the aeroplanﬁ f|Y"'lg ?/ AHls 3’@3&'&'? ae’r?;éﬁ:mrrﬁ:r 3000
" m@rm@%@@%WMW@M?Q@G@“@FB@WW{,
et s T Ml b bik o AT

__.J,V.

= \“M

| (A)100m/s (B) 200 m/s PBER FOT 7 A
| (92000 m/s G 4D)1500m/s  /F \G T QA pF 7T —
% Thevalue ofls cos3a+s»i.n3a-+ Cosaa_sfnaa[!}sg\‘: T ™ O} gl Q?/WC) -
+ ’ .  BSR a Wy 2 T ‘,""T N5
Ty T o3 s:\l e H— j

q——j-\g‘;
helperimeters dﬁtwo@nmﬂér‘tri’angles*A‘BCfahd POR;/are 48 ¢mad36 &m respectively. “Then'the ratio of
their areas is/ @ AH® f33=" ABC W3 PQR T UT P 4,8 Hhitea w3 3¢ Hehites 3 feg

@U?Sfe‘ﬂaarermau'?ép ¢, =W ?,56‘) Dk
— AR a3 N N T (6) 3:4 > i

——_1(Q 169 7\»“[,_[_: (D) 9:16 Y
. 7'r ol
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x4 ‘ \"/())\ L u 7 V7S
— 1.26 me;rh; distance travelleq in 500 revolutions is/ s yite e fawrs 1,26
oA E
@ (A) 2670 m/2670 . ~ | (B) 2880 m/2880 31,
7980 m/1980 Ht. (D) 1596 m/1596 37, |

83. 7| The base of a right triangle is 48 ¢M and its hypotenyse is 50 cm. The area of the triangle is/ f8al AHAE

/| fodE = IS 48 freniea 3 w3 T TEUASER 50 Adhiteg 31 o = 9zges 3

| \ )| (A) 168 sq.cm :g)) igi 2q.cm .

St 36 sq.cm q.cm

84. 1If one angle of a triangle is equal to the sum of the other two angles, then triangle is/ A9 & f3aE &

Eadrgae e g e J, ¥ 33

(A) acute triangle/ f?iQH ECt (B) obtuse triangle/ f39t f3a=
(C) right triangle/ AHAE f33E Mone of these/ foga™ f&d g &t

Which of the following statement is incorrect?/ 3 Bfimi &S fag3™ 98 B3 37

R e e

Iy ¥3 < fonfos dadt &

(A) A line segment has definite length/ f8& | (B) Three lines are concurrent if and only if they have a

common point/ f3& Juef AHEIST I AaT W2 ATS
?9#389@&31‘8”&1?@1%@'8

(C) Two lines drawn in a plane always

intersect at a point/ Ba 35 &g i |
I T Jyrer I fog '3 Jedh
o _

One and only one line can be drawn passing through a
iven point and parallel to a given

Line/ 8 &3 fiig Y BuwR I8 w3 fEx & et
T ANei39 189 w3 fiige 9 grdls fiist ar Aaet 9

The points (-1, -2), (1, 0), (-1, 2), (-3, 0) form a quadrilateral. This quadrilateral will be a J f‘Eg (-1, -
2), (1, 0), (-1, 2), (-3, 0) R T39gn g="ge T T g393+ &= Jaar

&

87.

% square/ TJ3T

(B) rectangle/ Wrfe3
(C) parallelogram/ ’33‘8'831’){ (D) rhombus/ IHER

If (x+1) and (x-2) are factors of x3 + (a+ 1)x2% — (b — 2)x — 6, the values of a and b respectively are/

P (ce1) W3 (x-2) T 2 w3 b 2 gt @ 79 T6 I T To

A
(A)1,7 .(B) -1, -7 s
1,-7 o7,
If the di (D) T
e difference between the mo

de ang median of a given data is 36, then the difference between

medianandmeanofthedatais/ﬁ-qgm " v v o 3 gi

. f¥3 Fer e HI W3 HoHs Roni3g 36 3, It e ”
”quas""@'qHBﬁBh'igaé -

“

v

‘ L b )
wo 3@ % # o
=N wey T S

- wﬁﬁmféﬁafi &5 ¥ ge 95, 3° Hitowr 3
~1(Q)

L

50
() 16 — 2
hesumofatwodi (D) 20 (L‘@

git nu e
I the digits of the 1 mber ang the numper obtained by Teversing the order of the same digits is 99,

Umber gj _ .o e s is 9
EIH'Q"EQBETQ o Iffer.bya_'thenthenumberls/ﬁ'aéwaﬂwefﬁ?b@%“ﬁré

U3 A3t Ay
—

[ (B) 85

i

£

[T 1
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— g0, | The diagonals AC and BD of a parallelogram hthe point O. If then is equal to/
ﬂég@ap{ feags intersect each other a
Fe ABCD® AC"‘?BDfaeogergaeﬁzEﬁaéaﬁlﬁaafeawé
1 (A) 24° e =
b 4er38 _
(D) 32° 4 )2
&ff%m#ﬂﬂwwmww ) “'\u — (5 )
1
o i M 5
V| (C) o= ),7@7
=T ﬁ“ﬁqﬁwa}mmﬁm ¥ g u0 '\’M’
W ) &= -0
‘/(c)mawﬁr G I il 3
'f*‘gg’—'qaﬁ'ﬂﬁmuhmmt? q %r’ 7 [' \’)//
| A o (B) g Ve \~\/L
| 2 ) o= T (07 b7
[ o4, | Fetirae ¥ N Qe ade Ar e B W 87 T~ /\ @
; MEIT (B) \‘ ) _ }Kb'/\i :
(C) we=m o)y wig . (Q 5,
95. | TN UP BT 61N 3T 68 [Aweq T 87 /‘}/\4 ,._\%‘0’
(A) T80 W BT (B)_mmiﬁ(\ ‘\’ (‘(‘(/9 J
(5 = o omenr 07 i
06, | Wi, W%, od 54 U= & IORD 87 %[\ 5 {é
(A) arest ey st (
(C) = (D) aF@ /
o e o e S T A 3 oF o1 wel [Aow I W 87
(A) =™ 3BT W FH T (B)s“rq'l@aaaﬁfl! \
AQ e weeg (D) ¥ AR QR = Fa1 v 21
08, | @@ W& ¥ @ A Wl 87 i : _ n'/,'%
3 (B)
ok D)WJ\/' DAL/
(C) == ( (’Smpa
99, e v v A W& ~ A ) e
. Al e Eﬁlj GR 28
O [ (D) s z
‘Tﬁ“mﬁmﬁmﬁﬁﬁﬁm—ﬁ—ﬂwmﬁ
A) ST
— - (D) v
B L
T

rLU\\&Q’O - g\ﬂp Ue¢) ?CXJ

Y

74 Tygem S =
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